


Solutions => Q’ob&bim—j Fﬁ:wew
™t

3:;) Place)= 4_ b) P(no+ oce)

52 = P(ace)
= _1 = ‘l - 4
) 2
52 - 4
52 52
= 4HE
52
= 1D
13
&) P(diamend)=13 d) P(red card)= 26
) " 5 52
= _1 | = |
H 2

P4 of spades)=_L_
e) P(H of spades) =



a) P(blue)= 3 b) P(blu Or ceen )
2a) Pbl | 8 = P(blue 8 Srf:en)
= _1 = 3 +

6 | 8 I‘Es’
= 9.
%
= d_
2

d)P(blue or black)

C) P(%‘i‘f_f_ﬁ or red)
= P(raiﬁtﬁ)ﬂ— Plred) =P(blue)+ P(black)
=3 + 5

= 6 + 4
IS '3 | g R
= Il!l ;—._g__
| 8 3
:.—5 :_L'a_.
Q

q



Q) ".'Jne:. possible cutcomes are

b) P( 2, heads fuilowed ba 4o l) = _Jg_.

@) P(2 heads and a +ail) =

‘”F»'

d) P(8 coins he Some) = %)_
-1



Ha) Tﬁmi a ™ with the firstdie and
a b m‘?@h +he second = independent

b) Picking a heart or a diamond from U
deck o cards =» mutually exclusive

c“}‘meirﬁia spade and a heart from
e 5a deck without replocing the
cord Hirst drawn . =7 dependent

d) Picking the Winner of the er‘tf\)i Cup and
Stanle Cu\:: => independent

€) Rolling a 3 or an odd number ona die
Ly utually inclusive

£) (nhoosing o blackK morble and ared marble
v e rbles are pult bocKin the,
\:3118 each +ime = independent -

8‘) Choosing a diamond or ared card
L> u+u-:.h'.\mj mclusive -



a) Plred and rollin

G) hY P(spade and rollin )
= Plred) x P(rollivt &) ) = P(qude) X D(mllanc 4)
= 26 x L = 12 x L
52 b 52
= 1L x_1 = _| X_L
2 6 "‘_I_f:v
I 2
C¢) P(face card and rolling less than3
TS S beesyety ‘
= 12 X 2
52 &
= _1 by __l_
13 3
% d) P(not black and not rolling a 4)
= | = P(rot black)x Plrotr ilinﬁ 4)
I3 = 26 X 5
52 o
= _|_ W _fj_
2 o
= gl



63 PC d )
G fecr QN reen
= ?ﬁ(gre;en) X P@Srf:ﬁn | arf:f:ﬂ)
= 1 % b
i) 4
=71 x3
Eo TR |
= DI
105
= _|
S5
b) Ploreen and blue and red cenb
8_—_ P(Sreerw)x pﬁbluﬂ!arecn xP({‘f:dlemue
= 1 x 5 % 5
15 4 13
= 105
e
- C blue and blue and blue and blue and blue
b =F{!:';!)><F’(Hb]xpiblzg)x A bi3b) x P(biHb )
= 5 x4 x3 x 2 X 1
1S | 4 13 12 I
=1 x 2 X3 x L x I
3 7 13 & I
= o
1501%
= _1



.
a)

P(odd o
= 3 + L -
< G
= M -]
& G
= 3
©
= 1
2

b) Pleven ar numbe

=P Y+ PG >
= Cev:zn+ D>

= Slodd) E )P( 3)~ Pledd and 3)

i
o

r areater Han M)
K-{il)g- &Z&in and #>4)
o




d) p(ST&G+EPHﬁﬁ5 or '16:55+hI n M)
Ejrt:e:&er H&n 3)+ [ Tessthan )
? Qa
= O

- (eRTATV!



8. 50 total students
}‘Lurus

. |8 taKke
* Db -I‘aHef.
* 2 taKe both

Chorus and Band

(onclusion g 18- uw*c_lhmn%cégus

5o~ 16-24-2,= § do not

+aKe ether Chorus or Bard

a) Venn Diagram

Chorus

0

¥

"Band

10



b) § students are notenvolied in evther

CY@rusc}rBﬂﬁd-
a) i) P - 1) P(et band
@) i) Plhand)= 26 i) Pnokband)
=13 = |- Jd6
dS 50
= B0 —96
50 80
= a4
80
g 3]
85
i) Plband or chorus) 1) P(band cmcldEms)
= Jﬁ% + Q_@—% = &
="y =7, s
50
25

11
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% e& ‘)
©) PCRpard and Cefnseman) 1o

O e B e e X goate)

CL|I€
= 'P de%nsemen) X eﬁ 1|C’O€‘F€ﬂS€fﬂOﬂ)

80 @q
= _| X 1C
5 DY
5
O e) P( efensemen and

= "T.xXx &6

1S 99

= 42

:'%q;_

13



a) RPlblac K rave
ack (?z%ra nllp(bmck and even)

EL
|8 | &

TR
%

-9
3

b) P( Srﬂgcfr+H&Q) ggmﬁﬂ and L'f)

1100[
E;
a;,,

14



d) P(hlue or black or areen
iD bluﬁ)i— P(black) Y+ P gﬂ:ﬁ'h)
= 1 o+ 7]3 + |
3 3
By
= 4 «— CrRrRTATN !
e P( black or gregter tha
) P(black)ﬁp%}3J Eblr:;c,HOnd >3)
= 6 + 49 -
i€ | 8 1'@
= |15-3
| & | ¥
=12
g

15



( black
) P 5"?3(%?5%3?@&1&@

3
=i
3
8) P?_E b‘%iﬁgﬁdd odd)=P(blue and add)
- BT ww

=

L
Vg
3

16
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